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HPE_CIEF10_X cone sensitivity Ysum=100
s−F10_X,s(λ)=B31x

−
F10_X,s(λ)+B32y

−
F10_X,s(λ)

+B33z
−

F10_X,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P60:Σs−F10_X,s(λ)=48,67
xF10_X,s=0,3218
yF10_X,s=0,3316
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−
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+B33z
−

F10_X,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P55:Σs−F10_X,s(λ)=44,52
xF10_X,s=0,3327
yF10_X,s=0,3411
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HPE_CIEF10_X cone sensitivity Ysum=100
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−
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−
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+B33z
−

F10_X,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P50:Σs−F10_X,s(λ)=39,96
xF10_X,s=0,3461
yF10_X,s=0,3519
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HPE_CIEF10_X cone sensitivity Ysum=100
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−
F10_X,s(λ)

+B33z
−

F10_X,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P45:Σs−F10_X,s(λ)=34,95
xF10_X,s=0,3626
yF10_X,s=0,3641
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HPE_CIEF10_X cone sensitivity Ysum=100
s−F10_X,s(λ)=B31x

−
F10_X,s(λ)+B32y

−
F10_X,s(λ)

+B33z
−

F10_X,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P40:Σs−F10_X,s(λ)=29,51
xF10_X,s=0,3831
yF10_X,s=0,3775
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HPE_CIEF10_X cone sensitivity Ysum=100
s−F10_X,s(λ)=B31x

−
F10_X,s(λ)+B32y

−
F10_X,s(λ)

+B33z
−

F10_X,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P35:Σs−F10_X,s(λ)=23,69
xF10_X,s=0,4089
yF10_X,s=0,3917
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HPE_CIEF10_X cone sensitivity Ysum=100
s−F10_X,s(λ)=B31x

−
F10_X,s(λ)+B32y

−
F10_X,s(λ)

+B33z
−

F10_X,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P30:Σs−F10_X,s(λ)=17,63
xF10_X,s=0,4413
yF10_X,s=0,4052
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HPE_CIEF10_X cone sensitivity Ysum=100
s−F10_X,s(λ)=B31x

−
F10_X,s(λ)+B32y

−
F10_X,s(λ)

+B33z
−

F10_X,s(λ)
B3j 0,000 0,000 0,4657 λ=440

P25:Σs−F10_X,s(λ)=11,62
xF10_X,s=0,4816
yF10_X,s=0,4147


